Melissa Raines                                                   7th period                                                                         Lab Report 


Purpose:

-To determine the coefficient of kinetic friction, µ, between an object and a surface.

-To determine the tension in the string between two objects. 

Equipment:

Inclined plane/ ramp

 a go-car with string attached

 motion detector
 pully
 scale
 protractor
 calculator
 weight to hang from string
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Procedure:

Using the equipment stated and illustrated above, I used the motion detector to find the acceleration of the go-car. The experimental variables are: the distance versus time of the equation provided by the motion detector. Independent variables are controlled by gravity which is constantly 9.8 m/s².
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Data Analysis:

1.  For my calculations to be valid, I am assuming the acceleration of the two masses is equal.  I determined this assumption by using the motion detector during the experiment and controlled it by starting the motion detector at the same time as dropping the weight that pulled the car up the incline.

2. The coefficient of friction equaled 0.0044.  The tension equaled 0.4769N and my calculations seem valid because they are based off of the quadratic regression equation from my calculator to find the acceleration.  Plus, this situation was supposed to reflect a nearly frictionless environment so the extremely low value of µ seems to be an indication of the data’s accuracy. 
5.  Some systematic errors could include: the accuracy of the motion detector graph, the scales when measuring the masses, and the interval between starting the detector and the car’s release. 
Conclusion:
By using Newton’s Laws, we were able to find the coefficient of friction and the tension of the rope.  Some possible sources of error could be any of the systematic errors stated above as well as some user errors like an improper usage of significant figures etc.
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